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Topic:- Child Development & Pedagogy (CDP)

1) Bipolar disorder is which type of disorder? /

feydt fer (aguier fERITER) foy yoR &1 faer 72
1. Mood / TTGRIT (48)

2. Learning / 3791

3. Personality / <afthed

4. Thought / fAR (¥ic)

Correct Answer :-

« Mood / TG (I3)

2) Which of the following best describes the Theory of Mindset? /
fFrafafaa d ¥ S9-1 aFRed & Rigia $1 99 33T quiH HdT 82

1. Fixed mindset stops cannot be changed / fRRR AFfy®dr favm (Irtbor%ls RIS v&c\llu) P SGal Tal off
BEIE

2. Fixed mindset only brings failure / fRR A%l (redrs AIs<de) Had SHAT ool 5
3. Growth mindset defines Intelligence / Wle HAATASAT, gig P TRATT HAT Bl

4. Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. / Wi%

HATATADRT, AHAT DI Th A THAC & T A WA & GIRA 3R ApfAd &= &1 37aw ot
el

Correct Answer :-

« Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. / Ulg

ATATIRAT, FAHAT P Teh AHcH THAC b F A @A & JURA AR epfda g &1 aax &
&l

3) Which of the following is a social-learning theorist? /

frafifea 3 @ #19 te amrfoe-Rian Risia 82



1. Bandura/ ST

2. Freud/ H1Is
3. Wundt / guc
4, Pavlov/ UTdelld

Correct Answer :-

« Bandura/ SgT

4) Ruhi; an 11-month-old child calls every white liquid object as milk. Which

element of the concept development process is shown by Ruhi?/

811781 F) 9=ht { 3R 98 TAS Fibe aRa a%g I gY HEdl 81 T8l gRT auRon fsr ufsan
1 S T UTpfac WHTT feamar T 82

1. Analysis / far&woT
2. Abstraction /HﬂiﬁWUT
3. Generalization / AT HOIOT

4. Experience / 3IJHd

Correct Answer :-

o Abstraction /Hﬁiﬁ?ﬂw

5) Learning is generally considered a lasting change in behavior based on:/

|ARgd: SR, f 1R sneTRva saasR # ve wirdt uRad= AT S §:
1. Challenge and reinforcement / IATAAT 3R FESTpIoT

2. Challenge and experience / Q?ﬁﬁ'iﬁ 3R AT

3. Practice and experience / 31#I1H 3R AJAT

4. Practice and challenge / 37919 3R WT

Correct Answer :-

» Challenge and reinforcement / gFﬁﬁPIIT 3R '{RﬁWUT

6) The concept of “inner speech” was introduced in language development by: /

YTYT & fapT A “3fidf¥es HTHUI” $) AGURUN 9 GRT ARH Bt g A:



1. Piaget / TSl
2. Chomsky /dieEahT

3. Vygotsky /aTgdiicaehl
4, Skinner /fEHaR

Correct Answer :-

* Vygotsky /dTsaicad]

7) Algorithms and Heuristics are the strategies of ./

wo fafy (Tenfan) ofik swor (gghfesm)___ @t vorifaa &
1. Teaching / fQreTor

2. Problem Solving / GHEIT HATITA

3. Learning / 3T9ITH

4. Thinking / Id=

Correct Answer :-

« Problem Solving / GHAEIT GHTITA

8) Which of the following statements is true? /
fArafaf@a & @ w9 a1 97 77 §7?
1. Growth is only a mental process / gfg had Ush HAATAS Uik B

2. Heredity doesn’t affect the learning process. /37JaliRrehdT, JTAIH UlhaAT Pl THTTAT A& AT
2l

3. Development is only a quantitative process /fa®rd, dhael T AMHICHD Uihar B

4. Learning is a process of behavioral changes / 3ifeTdH caraeIies uRadar & gfehar g

Correct Answer :-

« Learning is a process of behavioral changes / 31f9Td caraeIRes aRadar & gfehar g

9) The ability to apply a given general principle to a particular situation is called ./



et Ry aRfPufa & fFlt Re ov g Rguia #r awpy FQ Hr aw7ar w
FgT ST Bl

1. Inductive reasoning / 3TFTHAA ddh

2. Exceptional reasoning / garfee dob
3. Deductive reasoning / [ &

4. Logical reasoning / arfees ah

Correct Answer :-

« Deductive reasoning / fa9rd1ar adh

10) What form of learning is displayed when children imitate the violence they see in their favourite
video games? /

IR 1 FiT @1 T 9T @aT § I 9 39 AT Y AFd 3aRa § S F 39T qHder
AT A7 A7 T 2

1. Operant learning / FraTIgd i
2. Observational learning / 37deilched 3T
3. Conditional learning / 3{efafad 3rfara

4, Latent learning / 3TcT<h 31TA9TH

Correct Answer :-

o Observational learning / 3Tacllehed 3TTH

11) What involves the repetition of information so that it moves from the short term to the long term
memory? /

I i gl & w1 wiFafaad ¢ afF g ag-Freia § dd-wrels wgfa aw T
1. Coding / e HhclrepIoT

2. Rehearsal / qameam

3. Chunking / afdar

4. Storage / HoIEOT

Correct Answer :-

+ Rehearsal / Q@



12) Differences in behavior between two cultures can be attributed to: /
& FEfadl & 9 q9eR # N & AT $@ IWErE AW S wFaT @
1. Geographical background / #ioiferes guefa

2. Socialization /HHATSTHITT

3. Heredity /3TTeJd Rrehell

4, Environment / dTdTdI0]

Correct Answer :-

« Socialization /HHTSIIRIOT

13) Piaget developed important stages of cognitive development. /
s & FaeTeAs e & #geaqer o Refaa @l

1. Five / Urgr

2. Eight / 31TS

3. Four /I

4, Three / Tt

Correct Answer :-
e Four/dR

14) It is easier to deal with all social situations, if you are aware of your J el amfas Reufaal
¥ fAuear e §, 9 39 e & R A I E

1. Interests / &<t

2. Talents / @i
3. Personality / < thcd

4. Hobbies / Qitept

Correct Answer :-

+ Personality / cgTthca

15) IQ scores are generally correlated with academic performance. /

AR W digfe Fax & v, daafOrF vads F A HgHae ad gl o



1. Least / &d

2. Highly / 31cafde

3. Moderately / #EIH &7 &
4. Perfectly / T8 TRE ¥

Correct Answer :-

« Highly / 3afe®

16) Which part of the brain is responsible for thinking? /
afeass &1 Fi @1 srer fAasw F v SR 2

1. Medulla / AT (ﬁm)

2. Limbic system / m a7 (ofFas )

3. Cerebellum / W (ATeoTH)

4, Cerebral cortex / THTEISH dedpc (MNFTT PicaTd)

Correct Answer :-

e Cerebral cortex / HATETTSR depc (AT PIc)

17) Which of the following is a part of our working memory? /
fafafRa & ¥ #iv 77 Friehe Ffa &1 = R

1. Central executive / HarT HIRIHNT

2. Declarative memory / EYWUIcH® EHA

3. Semantic memory / 2Te&TY T

4. Sensory register / Hagr A€

Correct Answer :-

« Central executive / PHerT PRIBR

18) Which of these classroom practices may undermine pupils’ motivation at school? /
R ¥ FIT-F FaT F 33w Rggrew # Regfdat i o Ft F7 FT Tt &2

1. Teachers fail to notice students’ difficulties for remediation / freTr grT franfdat & FfsASIT @1
e S & foIw 38 ugaea # 3% BTl




2. Teachers grade pupils’ competence as high / &7 gRT faanfdat & Jegar & 31w Iz &l

3. Teachers encourage low performing learners / {167 gRT Aot e Pl Tl AfAIMHBATIT Y
GicaTfed

4. Teachers judge high achievers as excellent in high academic standard / T/87e gRT 3Ta N&IT0Th ATAD H
Scpedl & TT H 3T IUATCT UId A dTel STol el

Correct Answer :-

« Teachers fail to notice students’ difficulties for remediation / f1&Ter gRT faanfd=t &r wfsamsar &
e o & forw 38 ugarda # 3E%d &l

19) Which are the two Associative Learning theories? /

ar @Al sfte Rgyia sla-a §2

1. Classical Conditioning and Operant Conditioning / TEI 3-|c16i‘<—lc-| (Fenflher dIRAAIT) R gerar
Y (3iTue HErRIfear)

2. Classical Conditioning and Oppressive Conditioning / QT&ETT 3-|cjcii4o-l (FelTTAmel darRIfar) 3R
3z AHJaua (STRfla dSrerfaar)

3. Classical Conditioning and Operative Conditioning / T&ETT 3-@3[?13 (FeTflper darerfar) 3R
framgd 3rgaud (3Tude HErfdr)

4. Classical Conditioning and Observant Conditioning / ATET d-l@ei*-ld (FeTf¥pa deIRIfaar) 3R
Hellehed AT (3HTeatae BeTRTedT)

Correct Answer :-

« Classical Conditioning and Operant Conditioning / Q&I 3-TF_[€IQJT-T (FeTflper darRIfaer) 3R garr
. GiTte HEeE)

20) Nive’s father has grey hair and is tall, so she thinks that all fathers have grey hair and are tall.
Which stage is this approach? /

A9 ¥ Rar & a1 a¥e 3K oo § sufav a7 aud ¥ @ o3t & Rar F a9 whe 3k T
21 Ig Tiehor Ry ravar 7 &2

1. formal operational stage/ 3iTTaTRe AThITcHD ae

2. concrete operational stage / ?FET TihaTcHd AT
3. sensorimotor stage / T 3aEAT
4. pre operational stage /1171c TfhaTH D SaRAT

Correct Answer :-

 pre operational stage /131,:O|c Tfhard D AR



21) Eysenck added a third dimension to the personality trait, which is:/
ATsHF A AFdcad & TFH WY AAHT A a1F A 8, Ig Hia-ar 872
1. Agreeableness/ HeHAddT (THTIAAH)

2. Conscientiousness/ fafddmefiierdr (=)

3. Neuroticism/ =gUfesH

4. Psychoticism/ H1ghIfesH

Correct Answer :-

« Psychoticism/ AB®IfecsH

22) A child cannot wait his turn to bat and often runs on to the field when someone is already batting.
What problem could the child be facing? /

T godT geddrell & AT 3g T FT1 SdaR AG F FohdT 3R 3FAT AT W glzar § o«
S TgA ¥ & Toaarell FT I@T 81T ¢ TodT 5y FAEAT A S W@

1. Dysgraphia / fganfteam
2. Attention Deficit Hyperactive Disorder / €ITTHTd Uq Jfaafraar faeR
3. Attention Deficit Disorder / €Tl 3HTT fahR

4. Autism / 3ifesa )3caAfaaTs(

Correct Answer :-
« Attention Deficit Hyperactive Disorder / €ATATHG Td 3fAAfehddr fawR

23) Who among the following is a humanistic theorist? / AFIfaf@ad & ¥ &I v AFTAEET
Rguasr §2

1. Sigmund Freud / T89S WIS
2. Ivan Pavlov / Zdid UTdelld

3. Aaron Beck / W &

4. Carl Rogers / &Tel T

Correct Answer :-

e Carl Rogers / &Tel T



24) Attitude towards learning is best defined as something that J e & ufa gfeesor &r
Tad e AT & w0 & gRenRa frar Smar & A gl

1. can be modified only by the learners themselves/ dael frenfdat grr & afa foRar S ddhan
2. can be modified with age/ 31g & 1Y HAMAT fhaT ST FeheTl

3. can be modified by creating positive learning environments/ HhRIcaD TTAIH ATATARUT TATRT TATAT
fram ST Hepar

4. cannot be modified/ GMTAT &1 TRAT JAT bl

Correct Answer :-

« can be modified by creating positive learning environments/ ThRTcHD TAIMH ATATAROT Tl M
fepar S Heper

25) Round Robin Charts are used as a form of ./
ECRUTC I ¥ T H ygad e ama g1

1. Summative Assessment / JIMcHD Tchelcd

2. Diagnostic Assessment / IGHGIGEEEICTRG

3. Interim Assessment / 37T 3TThelel

4. Formative Assessment / {TddTlcHD 3Tcheld

Correct Answer :-

e Formative Assessment / TIATcHD 3Theldd

26) Today’s classrooms are likely to have a wide array of cultural, ethnic, and racial
among student /

IS F Fa3t F o F &=, gRpfaw, I IR A T
faFqa sf@en @ $r Fwrae B

1. Dynamic / GTehIdAT

2. Similarities/ THTAATT

3. Diversity / fafaerar

4. Continuities/ faadr

Correct Answer :-

« Diversity / Tafaerar



27) Giving a stimulus to a child once to motivate him/her is:/

F g H ARG A F v 339 3cdfoa s [{e @ &
1. Continuous reinforcement / TR geélepToT

2. Operant conditioning /3TaRe HSIRATAIT

3. Reinforcement / GEGTAIOT

4. Neutral stimulus / Ge&] 3ol

Correct Answer :-

o Reinforcement / Hié'éIEBIUI

28) As a teacher when you are working in a inclusive class room, your role should be: /

ﬁw%wﬁwmwnﬁvﬁm&nﬁmw@@ﬁ%}ﬁmuﬁmﬁ

1. Punisher /8 o arar

2. Care taker / ¢THTS &HIed dTell

3. Investigator / 3= W
4. Facilitator / HgIIh

Correct Answer :-

o Facilitator / Heldh

29) ‘Bob can put together a model airplane’. This statement is an indicator of which attribute of aptitude
test? /

qT TH Al §aT$ el F1 T WY W@ Fha &1 € F94, A adiaror i Fa Q@awar
HH §?

1. Clerical thinking / forfadhra fidar
2. Spatial thinking / TUTfae fia=

3. Organisational thinking / TITaTcH® fodd

4. Intellectual thinking / @ifge Ridar

Correct Answer :-



« Spatial thinking / Tl Rida

30) What is the term used to denote the basic, innate disposition of a child? /

TF qed F HA, ToAd FaHE F fAwT w0 F v Fa gg w1 g3 fmar s @
1. Personality / dTthed

2. Temperament / i a1 AT

3. Disposition / ¥

4. Attachment / e

Correct Answer :-

« Temperament / Yepfd T TSI

Topic:- General Hindi (L1GH)

1) &1 a:aﬁifamﬁﬁ?ﬁ#rﬂrma?ﬂﬁmwﬁ$mﬁ;a'gwa‘@?% T #A AN e RNy @A
ol Y W A F a1g aww i AR 39X qoT, IR FA-F @?” Fe @ at ¢, IAE AT 91l
g

D

n?mmaﬁamﬂﬁsﬁﬁwma;maﬁmﬁﬁi | A
HE A ¥, § aga wa d@a ¥ T4 T W ¥ B s B Storer F wer 3 g AR R o
T 48?7 - B 35 oft R ad & AwE Auw Nt Prerh ¥ B F g e o §

39T I Y IGH A S AT GT FT 3 IS0
WeT: ‘T @ at dEr F @ 1 I3d §?

1. 97eT

2. HAH T

3. faQw

4. 9PN

Correct Answer :-

o W

Z)W-mﬁmﬁﬁﬁQﬂma?ﬁé,mwﬁ*mﬁ;agwmﬁ%lmé’r#ﬁﬁwmm
Sl Y W IR F a5 aow e AR 39X goT, I Far-ar @ '\?ﬁsmmaﬁ 3T 9T 9Tl
T3 maﬁgmﬂﬁ#mwm*mﬁﬁmaﬁqlﬂvﬁ?m%ﬁmaﬂmﬁ
A £, 7 957 7 q@a § 41 97 €T ¥ F oM FIE S F "er o) g R e o 1 Ry e
T 3W? qH - m%mmmaﬁm-mmmm% ﬁ##amqﬁmﬁgl

39T AGHIT T YGH AR S AT G HT 3R IASTI



WeT: 98 9 AT @ S & AR H FA7 gt 82
1. SfaTel 3 T |

2. SoTe A d e

3. ST # del gl

4, STt foRE 3R 2T

Correct Answer :-

. SO A FIT @

3) F3)- amfrﬂsmﬁﬁa’r*rnﬂma?ﬂﬁmwﬁ#ﬁvﬁ?aﬁwt@ﬁ%lmé’rﬁﬁﬁwmm
S Y W FA F 916 a9 A AY 3q9 GO, WIS FA-FAT 2@ ‘TS @ Al 7@l 3AFT Fad o7l
u?mmaﬁamwﬁ;#mwma;mﬁmaﬁgﬁﬂﬁ&m%ﬁ:maﬂvﬁaﬁr
A XN & & aga B dwa §| T A wHG ¥ R oo B Sieer A wer ST g AN RoT s B AW <y
7 27 A - B To ot Reé wdt A At Y Aot Mok § Bk F o wwE a9 )

39T AGHIT T YGH AR S AT G HT 3 I8V
Yo W A g W g el F FA g 82
1. 3Wh Hafr

4) Faf)- m#mﬁﬁaﬁqﬁm?ﬁr§mqwﬁa;mﬁ?a?wmﬁlmé’r#ﬁﬁwmﬁa
St Y W A F 91 a9 el A 3Td qoT, I FA-Far 3wr?” ‘mmﬁa‘é’r 36T Sad 9Tl
nﬁmmaﬁamﬂ%ﬂmwm%mﬁﬁmaﬁglﬁvﬁ?m%ﬁ;maﬂvﬂaﬁr
HE gl §, & aga BH d@a ¥ FT qg GHT ¥ B e B Siorer # er W g 3R ReT N S R ey
7 387 g - P 3o oft Reaé adt aan- At Quw Mot P § Bk F g ww wwEw A

39YFd AGHIT T Y AR B AT G HT IR IA3TI
g §HT &1 Ao rsg gem?

1. 37EHT

2. TRl

3. 3aAY

4, AT



Correct Answer :-

5) Ffi- mﬁm%ﬁaﬁqﬁmﬁﬁmwﬁa;mﬁ:a'gwa'@ﬁ%lmi&#ﬁfrwmm
St Y W A F 91 a9 e A 3T9 goT, I FAr-aFar awr?” wwmaﬁ 3AFT 4T 9Tl
nﬁmmaﬁamﬂﬁ#mwm%mﬁﬁmaﬁqlﬁvﬁ?m%ﬁ?maﬂ'ﬂ’r#

A ol § 3 a5 w7 dwd §1 T T waw ¥ B o A Siorar e oW g o R st A R A
T 3@? qH - waﬁmaﬁmmmmm%m#ammm@

39YFT AGHIT T Y AR B AT G HT IR IA3TI
geeT: e & I ¥ a9y g7

1. HIRAD & ST

2. RHA G ST

3. 31 & S|

4. 3G & STl
Correct Answer :-

o 3ed @ AT

6) assﬁ-a:aﬁﬁmﬁﬁa?#rﬁmﬁﬁ,mwﬁ*ﬁvﬁsagwmﬁlm?rﬁﬂfrwﬁmﬁ?r
St Y W A F 916 a9 | A 3ad go, amﬁw—mam'?"‘gﬁswmaﬁ 3dFT Sad 9Tl
Hﬁaﬁmaﬁ@nwﬁ;ﬁmwm#maﬁmg’rwglﬁvﬁ?m%ﬁvmmaﬁ

A e § ¥ 95T P 3@ §| T TE G § B sem FS ST o ger AW e 3 AR s B R e

LY

T 42 A - Y Fo o R @ G- dwet Aaw N Proeh § B A g g A

a

39gFd AGHIT P IGHF A S AT YT FT 3 I8V
WeT: G e F frw Sere 1 R=or frar a3

7) Ffi- am"rifamﬁﬁa’fa%ﬁma?hﬁmwﬁ*ﬁv%ﬁwmﬁ%lmﬁ#ﬂﬂwmm
Sl Y W FA F a5 aow e AR 3T goT, I Fa-ar @ 'ﬁsmma'é’r 3AFT 4T 9Tl
n?agamaﬁgmm#mwaW*maﬁmaﬁqlmﬁ?m%ﬁmaﬂvﬂﬁ



3 gl §, F 95 FA @A §| T I WHT § F oem FS Sorer A "er W g 3R A st w1 ey <
T 487 7 - B 3o oft Rewré il dar- Aot Auw ot B € el A g A e A

39gFd AGHYT A IGHF A S AT YT FT 3 I3V
9eeT: ST HT GITIQTE 2eg 272

1. 3R

8) Fafi- amfrﬂsmﬁﬁa’r*rnﬂma?ﬂﬁmwﬁ#ﬁvﬁ?aﬁwt@ﬁ%lmé’rﬁﬁﬁwmm
S Y W FA F 916 a9 A AY 3T GO, AW FA-FAT 2@ “FE @ At 7@l 3AFT FaT o7l
Hﬁmmaﬁmﬂmﬁmwm%mﬁmaﬁgﬁﬂﬁaw%ﬁ:maﬂvﬂaﬁr
#rd A & ¥ aga 77 dmS §1 F qE wew ¥ B o P ST A ger s g o R st % Raw e

7 27 A - B To ot Reé wdt A At Y Aot Mok § Bk F o wwE a9 )

39T AGHIT T YGH AR S AT G HT 3 IS0
weoT: ‘O 7o o RE$ adt qar Fear @ mey @2
1. 9% I el Fehdl|

2. 9% diel el GehdlT|

3.9% ¢®@ el Al

4. I% GA ALl Heblll

Correct Answer :-

« % @ el Hebcll

9) Fsfl- m#mﬁﬁaﬁqﬁm?ﬁr§mqwﬁa;mﬁ?a?wmﬁlmé’r#ﬁﬁwmﬁa
St Y W A F 91 a9 el A 3Td goT, I FA-Far 3wr?” ‘mmﬁa‘é’r 36T Sad 9Tl
nﬁmmaﬁamﬂ%ﬂmwm%mﬁﬁmaﬁglﬁvﬁ?m%ﬁ;maﬂvﬂaﬁr

FE ol § 3 a5 w7 dwd §1 T T waw ¥ B o A Shorar e oW g o R st A R A
7 387 Ag - P 3o oft Reaé adt aan- At Quw Mot P § Bk F g W vwEw A

39YFd AGHIT T Y AR B AT G HT 3R IA3TI
weeT: ‘qy@ar fRar 87

1. Ghah R

2. GhdAd R 3bpAS Al



3.5 § By
4. 3rhAD foha

Correct Answer :-

. TpFd forar

10)M-mﬁmﬁﬁﬁa?rqﬂma?ﬁi,mwﬁa;mﬁva?wmﬁﬁlmé’r#ﬁ'&wmm
St Y W A F a1 a9 el A 3TE goT, I FAr-Far awr?” 'meaﬁ 3dFT ST 9Tl
nﬁmmaﬁamﬂﬁ#mwm%mﬁﬁmaﬁqlﬁvﬁ?m%ﬁ?maﬂ'ﬂ’r#
i Y & § wgd P Swd ¥ T T@ wwa & T T A ST F geT oW g 3 A st A RO e

LN

T 3Q? TqI; - 7o st @ agt ar- Aot dus Aol B §, T & g & ggaE= A €
39T AGHIT T Y AR B AT G HT IR IABTI

weeT: ‘BT 1w e wdt §7

1. 91

2. A d

3.94d1

4. Qe

Correct Answer :-

11) a;sﬁ-a;sﬁifmﬁﬁ#rw&ma?ﬁi,mmﬁ$ﬁmﬁa€wm%|mé’rﬁﬁfrwmm
S Y W A F 916 a9 A AY 3T GO, AW FA-FAT 2@ “FE @ Al 7@l 3AFT FaT o7
Hﬁaﬁmaﬁmﬁwﬁsﬁﬁwm%maﬁmaﬁglﬁvﬁ?w%ﬁ:mmaﬁr
HE el §, & aga BH qma ¥ 71 qE GwT ¥ B e S Siorer # Her W g 3 ReT N S R e
7 27 A - B 3o ot Reé dt A At daw Aot Poeh § Rt F o gEw A g

39T AGHIT Y YGH A S AT G&T FT 3 I8V
ge: ‘IS HT dIe9d g7

1. PROT

2. 3T

3. 30T

4. 3T &

Correct Answer :-

. A



12) a;sﬁ-a;sﬁifmﬁﬁ#rw&ma?ﬁi,mmﬁ$ﬁmﬁa€wm%|mé’rﬁﬁfrwmm
S Y W FA & 916 a9 A AX 3T GO, AW FA-FAT @I ‘TS @ At 7¢1” 3AFT JaT o7
Hﬁaﬁmaﬁmﬁwﬁsﬁﬁwm%maﬁmaﬁglﬁvﬁ?w%ﬁ:mmaﬁr
HE el §, & aga BH qma ¥ 71 qg GaT § B e S Siorer # Her W g 3 ReT N S R e
7 27 A - B To ot Reé dt A At daw Aot Mok § Bt F o gEw A )

39T AGHI T YGHT A S AT GT FT 3 IS0
yeeT: @A &1 qgaas aeg ghn?

1.

2. e

3. fARAT

4. fAaegd

Correct Answer :-

13) Fagael

TE § 3l

arell-ar emer

i § AY A3 2

go¢ I3 Y,

S A uial W B3 QN

g arell 3i-3ik

Foqdtaar

f &,

T R gU

g YA AT F B g

qeell HoYdel Wa -

Ig 4 s

M AT F 9l ?

39T UEIRT N TGHT AT I A q WA FT 3R IABT
YeeT: ST &1 YATIarET ereg &7

1. ARTYAT



2. QT
3. 37T PremsT

4, ATITAT

Correct Answer :-

f e,

wga fot go

g YA AT F B g

qeell HoYdel WaA -

Ig 4 saT

AT A7 A SN ?

39T UEIRT F GHT AT I3 A q WA FT 3R TABT
U3 ‘SIREAT T e osg #4182
1. e

2. T

3. Wolell

4. QYT

Correct Answer :-



15) wogeh
TER ¥ I

arel-ar emer

Ft § A fF-3mr 2

g I o)

7P N Wit W oY A

gawT arelt 3k-3ik

Foqafaar

& &,

T et g

gH I AT F B o

ggell Fogdell HE T

Ig FH sTOT

A AF A SN ?

3YYFA YSIIT Y TgHT A IS AT gl T FT 3R IaA1801
YeT: el Fl foud gt 82

1. AT

2. Bl

3. 39

4, qio

Correct Answer :-



Foqdtaar

& &,

T et g

gH I AT F B o

Tl FogAer Fra M-

Ig HH geeT

A AT A SN ?

39T UCIRT Y TGHT A IS A q WA FT 3O TABT
weoT: ‘I W W @3 Far Agray F AT F4AT 82
1. Jfaafda g

2. TR ger

3. 3{HATY BT

4. TaTderd gl

Correct Answer :-

. TATTeET BT

g 3 AT F B U

Tgell FHoYcrell Wl o3l
Ig Y sToT



A AT H Sl ?

39T UEIRT Y TGHT A IS A q WA FT 3O TABT
veel: P A7 H FAUYH FaaAaT A FTOT A

1. Tl oA

2. 390 | RIS AL

3. 9mr

4. 41 3R Ugell HeYdel kT

Correct Answer :-

f e,

wga fot go

TR YA AT F B g

qeell HoYdel WaA -

Ig 4 s

AT A7 A N ?

39T UEIRT Y TGHT AT I AT q WA FT 3R IABT
YeT: T FHoYdell A qTd T Faqdfadr H F4dr aard g2
1. 3T

2. 319
3. 3BT



4. PR

Correct Answer :-

. 3TOT

o &,

T et g

g 3T AT F B ol

Tgell FoYdel A daf-

Ig 4 s

AT AF A N ?

39T TSI Y YGHT AT I A G ToA FT IR TABT
WNREA: @ F FEHRT U F AT Fogdelr?
1. 3T I B

2. AT B

3. fagie et B

4. fr@ AT

Correct Answer :-

. fagie & B



arel-F grer

i § A N33 2

g=s dIs an

S AY 9iat W B3 A
gas el 3R-3ik
Foqdtadar

f &,

g ot g

gt 39 7 ¥ o gl
ggell FST W -

Ig 4 g

AT AF A SN ?

39T TSI F TgHT AT I A G FoA FT I/ TABT
Yol FOYell FIAT ATE 87
1. 37T

2. FqAAAT

3. 3TSAhdT

4. T[T

Correct Answer :-



w5 R g

g U AT F B U
ggell FETae A -

Ig FHr sTOT

A AF A SN ?

39T TSI F TgHT AT I A G WA FT I/ TABT
WeT: FHEYA FAT AEAT 87
1. 3R W ATIAT|

2. T8 § 3 S|

3. 30 Uld WX o @31 Bl
4. U Ulg OX W3 BT

Correct Answer :-

« 30 Ulg UT @ST @]

f& e,

T R g

gH I AT F B T

ggell Fogdell HaR T

Ig FHr sTOT

A AT A SN ?

39YFA YSIIT Y TgHT A I8 A gl JT FT 3R IaA1801



YeT: FeYdr P H A FAT Feah 872
1. 3 3-US A dig =1 E

2. A 3M-US T 9 A g

3.3 AA-US I woydfear Far &

4. 3P A

Correct Answer :-

o A IEA-OD J 9T F=4T L
23) Fgeeh

TEY ¥ 3

arel-ar emer

F4T § A AS-3mr ?

gw¢ ars an

T A 9lat W B A
gt arelt 3i-aik

Foqafaar

f& g,

T et g

gH I AT F B o

Tl FogAer Fra M-

I HH geoT

A AT A SN ?

3YYFA YSIIT Y TGH A IS A gl T FT 3R IaA18°01
yeaT: FoYafadl F gEl F FAN W A H?
1. AT 37T &
2.9 BT &

3. #AST 37T B

4. 9@ Toerar ¥

Correct Answer :-



o &,

wga fot go

TR YA AT F B T

geell FoYdell Wraa -

Ig 4 s

AY A H el ?

39T UEIRT Y TGHT AT I A G WA FT 3R TABT
yeeT: FoYfardl A Tacdaar i a1 PlT FT @ 82
1. 9T

2. o

3.41g

4. dic;

Correct Answer :-



IS A uial W B3 N
gt arelt 33k

Foqdtadr

fr &,

T R gU

TR YA AT F B oI

geell FoYdel WaA -

Ig 4 sTaT

M AT F 9l ?

39T UCIRT Y TGHT AT I A q WA FT 3O/ TABT
ee: Heqdterdr fhad ath g§ 82
1. 4ram

2. 3Wh |

3.5 |

4. 9fsat @

Correct Answer :-

gH 9N AA F &S T



Tgell FoYdel A oaf-

Ig 4 s

AY A H el ?

39T UEIRT Y TGHT AT I A G WA FT 3O/ TABT
ges: ﬂm#aiﬁgéawgaﬁm

1. ggd Bl

2. ¥9qT B

3. e &

4. TITHE I

Correct Answer :-

o T E

& &,

5w o gv

g IS AT F B ol

geell HoYdel Waw -

TE FH geor

A A H b ?

39T YT Y YGHT AT I A G ToA FT IR TABT
YT ‘FoYAar Aeq FFad AaHT oo 32
1.5 § PIg AL

2. hael geloll



3. hdd PIS
4. %15 3R geel et

Correct Answer :-

« &6 3 gl gt

28)aa'afrm#mﬁmaﬁrqﬁmﬁimwﬁtﬁvﬁﬁwm%lmﬁ#ﬁﬂwmmm
N W A F ag aw didh AR 378 goT, WIS FI-FT 2@ “FE @ ar A, mmmlaﬁag?r

maﬁ§mwﬁ#mwm$mﬁmﬁaﬁ§lﬁvﬁam%ﬁ;maﬂvﬁaﬁrmaﬁ%a

FH @A ¥ 71 Ig wHa ¢ T orar FI$ Sorer F wer s¥ gR R AR oY F RAw g 7 3@ g3 - O 7o oA

mwmmmmm%ﬁ#ﬁngM@

ST TR P TGP A9 YD T Uy HT IR garsy|
UY: 98 39+ Al 3t udten i ot 32

1. ar ¥ gEd §

2. a7 forma ¥

3.7 &1 |@rad &l

4. T gAd

Correct Answer :-

o A AT ST ¥

29)753#mﬁmm#mm&{mwﬁ%ﬁ?ﬁ?aﬁwm%lmﬁ#ﬁﬁwﬁwﬁam

R FA F 916w d AT 3TQ TR, A FI-FAT @ FT @ Al 7€l A G °9TlqI a5
maﬁgmwﬁ:#mwmtmaﬁmaﬁqlﬁwﬁ?m%ﬁ;maﬁﬁaﬁrmﬁ% aag?r
ama'@ﬁ%lwwm%ﬁ:maﬁém#mmaﬁaﬁ?ﬁwaﬁaﬂéﬁﬂwiﬁaaaﬁ?w mwaﬁ
@ agt aar- Awst s @ A €, ﬁl—gﬁamqgma?ﬁy

ITYe TN B USH I IS T ¥Y BT IR S413¢|
UY: W T F AR, e o gidt €, a2

1. B ¢Ed B

2.3 q PIS AL

3. ATA® WA &

4. T8 2Td ¥

Correct Answer :-

« BH ST T



3o)$afrmﬁﬁmmﬁﬁmmﬁgmmﬁ*ﬁtﬁ?aﬁwm%lmﬁﬁﬁwmmm

W = F 905 aw didh A} 3798 ToT, IS FI-FAT 2@ FO @ ar qg,” mmmln?m
maﬁgmmﬁﬁwmﬂ?mﬁmaﬁyﬁvﬁam%ﬁ?mm#mm% aaﬁr
amauﬁ%lwwm%ﬁ:waﬂém#mmaﬁaﬁrﬁwaﬂﬁém}waﬁaaa@ﬁw mwaﬂ
g 7 &ar- dwst Tuw A Rt § ﬁl‘%ﬁaaﬂ%ﬂm?ﬁrql

SUYT TR B UHR 14 I 7T UY HT 3% 9a1sC|
UY: SaT9 o1 faad sg gHT?

1. QT
2.39H | PS5 AL

3. 1T
4, garel

Correct Answer :-

Topic:- General Urdu(L2GU)

1)

ESALEPCT

. JE 2L

/-1- kb
4 BTl

Correct Answer :-



3) . -
;f_.ui/ﬁ,dfujy(ﬁijﬁw;
I

. by

Bz

Correct Answer :-

1

4

)
LW etz 2L ey de ) g P in T
3
sy
N g)J/lm._.;J]

N Jlf».._.;u”



. ¢ /.’* i 7
Correct Answer :-

. J/Lf._.;j]

K <\ 920 fxﬁ@ﬁuﬁw%.li.;%*;uluf Ny AUE O

I

Correct Answer :-
#2f4

st gt w2 35
11938

6)

11935

1936
. 1955

Correct Answer :-

1936



Correct Answer :-

. /:'.p.._.ijf

8) K
Sl b £

L eL2r

2 Ay

 LLJp

Correct Answer :-



adel I

§F

Correct Answer :-



&

2,
2
3, v
...'
4, A1

Correct Answer :-

g

12)

VK L LT
A

N 286

En

J ¥

4l -

Correct Answer :-

S

13)

(# ( L‘U_;; KZL
& _’_4
P
& .
5 u’"‘L‘bf
& .
3.



) G

Correct Answer :-

e

4.,,Jrr“l

Correct Answer :-



Correct Answer :-

, ¥
5 1



L;% LJ)(L/'J’ 1OV5,

,
| Fiusidr
. U

Correct Answer :-

Y e -

:':_.U/ G e Ii
4. -
Correct Answer :-

..f‘_.u/U’JJ;,_.r fu‘f



A

L =J7
L LS

Correct Answer :-



J‘j’l,.?lj

3.
. S lf

Correct Answer :-

X
e
o
C
3
-I-* L“
L™

Correct Answer :-



25)

Correct Answer :-

] ..:.dlfr



Correct Answer :-
5] PP

28) : « [ it
e byl b

, ol
o
2.
I I
3l -
h--*‘:j
4, *



g

30)
E G i

,Erl)’)
1.

KL

&

3. fo

Topic:- Mathematics (MAT)

1) From the sum of 2m? + 3mn + 3p, — 4m2 — 7mn + 5np — p2 and 5n2 + 4np + 2p2-p subtract the
sum of 6n2—m2 - 5p2 — 4mn and -m? + np + p2+2p. /

2m2 + 3mn + 3p, — 4m2—7mn + 5np — p2 T4 5n2 + 4np + 2p2-p F AT H A 6n2-m2 - 5p2 — 4mn T
-m2 + np + p2+2p P TN HI Y4 |

1. 11m? +8n2- 4p? -4mn —2m? +6np + 2p
2. 3p2
3. 5p2 %+ 8np

4. 8n%2 - 5p2 -7mn —2m2 + np + 2p



Correct Answer :-

. 5p2 %+ 8np

2) A farmer wants to fence his regular hexagonal plot of side 200 meter. What is the total length of
rope required? /

% frar 200 Hex YoIT & JU-TEYS PR a1 YIS | 918 ST dredl 2 1 39 fi sraxgs =l ot
Fd gaTs foba-t gRft?

1. 1400 meter / 1400 e
2. 1000 meter / 1000 e
3. 600 meter / 600 Hex

4, 1200 meter / 1200 e

Correct Answer :-

« 1200 meter / 1200 Hicx

3) On selling a tea set at 10% gain and a lemon set at 20% gain, a crockery seller gains 26. If he
sells the tea set at 5% gain and the lemon set at 15% gain he gains 17. Then the actual price of the
tea set and the lemon set? /

10% & ATH TR TP ¢1-9¢ 3R 20% & ATH TR TP Wad-A¢ 994 R, TP Hid) fAshdl 26 IUY BT ATH UTH
YAl 21 IfE 98 5% & ATH W H-A<T 9YUT 15% & AT X YA d-Uc oadT @ df 39 17 FUA T A1H YT gidl
2, @t f-A¢ v 3da-Ae o1 aRafa® qed 82

1.75, 80

2.200, 100

3. 100, 80

4. 150, 120

Correct Answer :-

4) A hotel requires 91 bottles of oil for a week. Find the cost of oil it will require for 58 days if one
bottle costs Rs. 98. /

U glcd Pl TP JWIE | 91 S1dd ad B! ATaxgHdl gidl g1 Tl U diad &1 @RTd 98 U §, a1 58 =i &
fore srmawg® d« $Y ARG T B

1. Rs. 72384 / 72384 ¥

2. Rs. 75460 / 75460 U



3. Rs. 75400 / 75400 &9

4, Rs. 73892 / 73892 ®U

Correct Answer :-

« Rs. 73892 / 73892 &

5) Breaking up of the mathematical concept into smaller parts is termed as ./
TfdrT SrayRUn Y BT foal # s PET a1 gl

1. synthesis / FHYOT

2. analysis / fa&wor

3. inductive / 3TITHA

4, deductive / [ITHT

Correct Answer :-

e analysis / ICELS

6) Fill in the blanks. /

R wm W1

I -53+__ =53

II[11 + (-14)]- () = () + [(-14) + (-9)]
1.1:0, II: -9, -11

2.1:0, II: 9,-11

3.I1:53, II: -9, 11

4.1:106, II: 9, 11

Correct Answer :-

« I:106, II: 9, 11

3
7) 1f the volume of a vessel in the form of a right circular cylinder is 448 ™ “™" and its height is 7 cm
, then the CSA of the cylinder is ./

If} TP AT I AT F AR AT TF T4 BT AT 448 T T3 gyt g Sars 7 I R, A IeA w1 9w
CrinEPE Lo S 1

1.464 sqcm / 464 a3t A



2.378sqcm / 378 T {aT
3.352sqcm / 352 g9 {aT

4,482 sqcm / 482 T [AT

Correct Answer :-

e 352sqcm / 352 I HHT

8) If the perimeter of a regular octagon is 320 cm, then the length of one side is: /

gfe TP T Py HT URATT 320 At 8, df SHP! TH YolT B 6«18 &
1.60 cm / 60 T

2.80cm / 80 THT
3.40cm / 40 @A

4,70 cm / 70 QA

Correct Answer :-

e 40 cm / 40 QA

9) Which of the following will give a whole number result? /
fFafafaa % @ si=-ar uom & v # ve gof g 3
i. 6-2

ii. 6/5

iii. 0x3

iv. 7-9

1. AL, i, i, v /gy i, i, i, v

2.i,and iv/i, @@ iv

3.0nlyi / &ad i

4.i,andiii / i, 79 iii

Correct Answer :-

o i,andiii / i, Td iii

10) A conjuncture is a statement which we believe is true, based on mathematical intuition and if
we proved it, then it becomes a ./

TN/ AT (F-SHTRR) TH HY 8 O 80 A1 ¢ fF g8 9 8, vd iy siagf wR snurfa @
3R 3R g0 39 TIfad o= fear, A ag ue CEEEIGIE



1. postulate / 3TfFGROT
2. axiom / Taaflg a1 Rgia
3. theorem / UAT

4, statement / AT

Correct Answer :-
e theorem / U

11) Amicable numbers is discovered by i

Tfirded AeR @1 @ ERT &1 T
1. Euclid / JfFeTs

2. Thales / ¥

3. Pythagoras / UTS AR

4. Plato / Teler

Correct Answer :-
» Pythagoras / UTSUTITRH

12
) Ifu,=x,—900,% fiu;,= —400,X f, = 100, then x= A

afe u, =x, —900,X fiu,= —400,Xf,=1008. a7 x=____

1. 984
2. 546
3. 782

4. 896

Correct Answer :-

» 896

13)

IE—
x4+ 2x+4

- e ,
wﬁx:+21+4_2%' arx &

Evaluate = 2 then x is:




1.2
2.1
3.3

4.4

Correct Answer :-

14)  In A PQR and ALMN, PQ=NM. »P= + M. The two triangles will be congruent by
SAS axiom if -

APQRTE ALMN #H PQ=NM. £P=2M §| s[aT-avr-o=1 f&gid ganr ar
fFreger  waiaraa gian, afe:

1. QR=ML

2. PR=ML

3. QR=MN

4. PR=LN

Correct Answer :-

« PR=ML

15) Inthe given figure, O is the centre of the circle, Z0AB=60° and the radius
of the circle 6 cm. Then the area of the triangle is:

few a7 @f@s & 0 g7 =7 FF g 20Ap=60"HR FoT Hr F=am
6 ®AT 8, aF TR &7 895 &

A B

9v/3 em? / 9+/3 &

13+/3 cm?/ 13+/3 GHE



72 cm? / 7+/2 AR
3.

4.6cm2/6@?ff2

Correct Answer :-

93 cm? / 93 GHE
16) In an equilateral triangle ABC, AD 1 BC,AD? = xBC% thenx=___
UH FHEG it ABCH, ADLBC. AD? =xBC Al x=__
2
1 4
L
5 4
X
3. 3
4.4

Correct Answer :-

|

17)
If & and f§ are the zeroes of the polynomial 3x% + 5x + 7. then:—3 +£% is

Iic awd f J9EUE 317+ 5x +7 & e g, dl :—3_|_£% = ¥

1910

2101

190
343



37

3. 82
243
4 310

Correct Answer :-

190
343

18)

[f the side of the equilateral triangle is 4+/3 which is inscribed inside a circle _ then the area of
the circle is:

afe; TaaTg Begst 1 oo 443 @ S U dod & 3HeX 3ifehd &, dl god @ &TH -
, 36mcm?/ 36n JHAR

16m cm? / 16m THT

2.

On cm?/ 9 ?ﬁFﬁ'z
157 cm? / 15z THP

Correct Answer :-

16m cm? / 16m THT

19)  In two triangles ABC and PQR . AB=QR BC=QP.AC=RP then-
ar Bt ABC 3R PQR#, AB=QR. BC=QP. AC=RP §.dr
AACB = AQPR
1.
AABC = ARQP
2.

, OABC ~ APQR



, AABC = AQRP

Correct Answer :-
AABC = ARQP

20)  There are 30 laddusina plate. Anil took = laddus if 10 laddus remained balance. Choose the
matching equation.

U Afell # 30 @53 ©l e A Josg o O afe 10 @53 A9 | TR A
GAferd FHIEOT &1 Tdd |

2 _10=130
2

1.
30—-2+410=0

2. -
30+10="

3. 3
30-2=10

. 2

Correct Answer :-

30—-=10
21)

ABCD is a trapezium in which AB || DC. If ar(AABD) = 24 cm? and AB = 8§ cm. then the
altitude corresponding the side AB of AABC is .

ABCD Uss GHo#E b, foigd AB || DC &1 AfE(AABD) & alahel =24 AL AT AB =8
AT 5. dT AABCHT Hatd =T ABET 3915 __ §

1.16 cm / 16 Q3

2.8cm / 8 TaY

3.7cm / 7 ®aT

4.6cm / 6 A



Correct Answer :-

« 6cm / 6 AT

22
) If PQRS is a trapezium in which PQ|IES and PS=0QR then:

afg PQRS e AW g, f9@d PQIRS 3R PS=QRE, ar:

LP= 48
1.

LP= 4R
2.

£Q = £5
3.

LP=2£0Q)
4,

Correct Answer :-

2P =2Q

23)

If e and 8 are the zeroes of a quadratic polynomial x® — 3x + 7. then the quadratic polynomial

whose zeroes a.re% and%is

e o Ta g AU FEUE x2 - 3x + 7 & YIS g ol oEE ﬂu—«‘:ﬁ?iuﬁ% t. 98
cfaard sguq ol

| x2—3x+7

5 Tx*—3x—1

3 Tx*+3x+1

4 Tx*—3x +1

Correct Answer :-

L Txi-3x+1



The average temperature of Mondav Tuesdav and Wednesdav was 73° C, while the average
temperature of Tuesdav, Wednesdav and Thursday is 77° C. If the temperature on Thursdav was
76° C then the temperature on Monday was ————-—-—-

meﬁaww%mwﬁmmﬁwaw
3R IEaR &1 it dmAe 770 dfewad ¢ I1E TEAR HT d9ATe 760 AeTad o,
al SIFaR &1 dgA 2T

e C
1.

o &
2.

782 C
3.

i
4.

Correct Answer :-

e C

(113)*+(279)°
(113)2-113=279+(279)=

1. 113
2.392
3.279

4. 639

Correct Answer :-
e 392

26) Choose the number divisible by 6. /
6 A fawtfora g1 areft e &1 99 +1|

1. 2281

2.2148

3. 2186

4. 2108



Correct Answer :-

e 2148

27) Choose the true statement about expression 4a3 — 37bc. /

P 4a — 37bc & HIY H gl HYF BT TI7 Dr |

1. a, b and ¢ are the three terms of 4a3 — 37bc. / 4a> —37bc & & Ug a,bud ¢ ¥l

2. 4a and 37bc are the two terms of 4a> — 37bc. / 4a’ —37bc & & ug 4a> wd 37bc ¥
3. 4a> — 37bc is monomial. / 4a> — 37bc THUET ¥

4. 423 — 37bc is a polynomial. / 4a> —37bc TR dguc &l

Correct Answer :-

« 4a3—37bcisa polynomial. / 4a3 — 37bc TH Jgua el
28) Find 222222 x 15. / 222222 x 15 9 B

1. 3333330

2. 3333335

3. 3444450

4. 4444440

Correct Answer :-
e 3333330

29) A number is multiplied by 7 and 36 is subtracted resulting to thrice the number itself. Then the
number is: /

T AT B 7 | 0N A W 3R STH A 36 e TR IR W &@d &1 i+ A1 8 wird! 8, o S &:
1.9
2.7
3.4

4. 8

Correct Answer :-



30) Psycho-motor activities under mathematics deals with: /
TR & e wrgdl-Aer Mfafaftal « Hdfia g1
1. All of the above / 3URTh T

2. Drawing only / hael Y@Ihed (3TS4T)

3. Manipulating only / hdel Udhelel (Eﬁ?—h'gﬁlﬁ'ﬂ)

4. Model making only / Ppad Alser AT (AlseT Afhar)

Correct Answer :-
o All of the above / 3URIh T

31) Using the divisibility test, determine which of the following numbers are divisible by 8? /
faureriiaar wira &1 IuaRT wv, Fuffia w3 6 Fafafae § @ $19-0 g 8 @ fauifa @2

1. 68324

2. 98780

3. 74612

4. 37136

Correct Answer :-

e 37136

32) The term synthesis in the Bloom's Taxonomy is revised as ./
A & DT | Meg HIAYUT' Bt & ¥u ¥ T=nfea far mar g1

1. Analyzing / fagiwoT

2. Evaluating / W A

3. Creating / fA@T0T e

4. Applying / T[] el

Correct Answer :-

e Creating / AT B



33) 11 square pits of side 1 m are made on a plot of land 7 m long and 450 cm wide. What is the
area of remaining part of land? /

7 ez @9 3R 450 At NS YT F TP ghe W 1 HeX YT a1 11 FHR T3 I97¢ 91 8 1 YT & 2w =y
P &G fora-r 82

1.304 sqm / 304 g
2.9.5sqm / 9.5 TIHR

3.20.5sqm / 20.5 TIHX
4.31.5sqm / 31.5 X

Correct Answer :-

« 20.5sqm / 20.5 TIHRI

34) "Mathematics is the queen of the sciences and number theory is the queen of mathematics” is
stated by: /

TiforE, far @t I 3R Te Rigia (R @) i 3t I } 1 g 39 g1 FeT T R
1. Gauss / I

2. Bell / &

3. Fischer / fheR

4, Bernard Thomas / IS ATAG

Correct Answer :-

e Gauss /g

35) What is the successor of 999992 /
99999 #T TIadl HEAT FAT §?

1. 1000000

2. 100000

3. 99998

4. 99990

Correct Answer :-

- 100000



36) (-123) +132="?

37) The graph of the linear equation 5x+3y=-15 is the line which meets

the x axis at the point: /

&% FHlHIr 5x + 3y =-15 FT IMF I¢ @1 ¢ S x I7&T @ 39 foig w BAaeh &
+-6)

1.

2.(3,0)

3.(0,-5)

4. (-3,0)

Correct Answer :-

38) The fourth vertex of a square whose three other vertices are (3,0),
(0,0) and (0,-3) is: /

& o &1 gtar Y Fra M, e s=w e ot (3,0), (0,0) TE (0,-3) &
1. (3.-3)

2.(-3,3)

3.(-3,-3)

4. (3,3)

Correct Answer :-

° (3:_3)



39) The mirror image of (3,-5) in y-axis is: /
y-3718T WX (3,-5) #1 gdor gfafe« &:

1. (3,5)

2.(-3,5)

3. (-3,-5)

4.(5,3)

Correct Answer :-

« (-3,-5)

40) Which of the following is the equation of a line passing through the point (12,-13)? /
Prefafa § ¥ #i Rig (12,-13) ¥ Toret aeh Yar a1 wsfieor §2

1. 9x+5y=11

2. Tx+5y=19

3. 2x-3y=-63

4. 9x-5y=174

Correct Answer :-

41) Immediate objectives are stated under ./
dehTd 36897 ___ & 3idea amid &1

1. affective domain / HTdTcHDh T&T

2. connective domain / TAToiT T&T

3. altitude domain / 3TTcd (Tedicgg) U&T

4. cognitive domain / H=ITATcHD T&T

Correct Answer :-

« cognitive domain / HITATCHD T&T



42) ABC is an isosceles triangle with AB=7 cm and BC= 13 cm. How many such triangles exist? /
ABC @& w#efaarg Bfsr &, forest AB=7 ¥t 3K BC= 13 ¥l 1 00 ey Psper aAtere &2

1.2

2.1

3.0

4, More than 2 /2 & 31fQ%

Correct Answer :-

43) Find the co-ordinates of the point P which divides the join of A (3,-1) and B (-3,-4) in the ratio 2:1. /

A (3,-1) UF B (-3,-4) &I Sliga arell @1 1 2:1 F Iqurd & fsnfaa Fa arelt g P &1 s A
I

1. (1,-3)
2. (-1,3)
3. (-1,-3)

4.(1,3)

Correct Answer :-

44) Find the area of the triangle formed by the points A(0,1), B(0,5) and C(5,4). /
fa=g A (0,1), B(0,5) 'd C (5,4) s@rr faffia fgsr &1 &awer wma #

1. 8 sq.units / 8 I FHS

2. 16 sq.units / 16 T HIS

3. 10 sq.units / 10 T ZHE

4. 5 sq.units / 5 TN FHS

Correct Answer :-

« 10 sq.units / 10 T SHS

45) learn by actually experiencing or carrying out physical activities. /



aeda # 3T F& a1 aiRE Al B we & @
1. Kinesthetic learners / IIfauRen r&Treft
2. Auditory learners / HdUTcHh freqreft
3. Sequential learners / Hﬂﬂ?ﬁ?ﬁ fQreqreft
4. Visual learners / /8 fRramait

Correct Answer :-

« Kinesthetic learners / ITfcueh fQreqreft

46) The area of square that can be inscribed in a circle of radius 6 cm is o

39 9 FT A6 g, O 6 A+ B areh va g9 & iadd sehot fRar S awar §
1. 144 sqcm / 144 T @AY

2.72sqcm / 72 I FA

3.81sqcm / 81 1 HY

4.36sqcm / 36 gIT T

Correct Answer :-

e 72sqcm / 72 g @[S

47) The great school Alexandria during 300 BC was formed by )
300 $8T 94 & RIS AT ¥l oo 134T & faaAor & g@rT fmar I

1. Euclid / gfeFeTs
2. Alexander the Great / e FgA

3. Pythagoras / UTSUTITRH
4. Aristotle / 3INE]

Correct Answer :-

e Alexander the Great / fehe Al

48) The centre of a circle is at (-1,3) and one end of the diameter has co-ordinates (2,5), then the co-
ordinates of the other end are .

TF qd F F5 (-1,3) W § TUT AW FT & 3 & Aga® (2,5) ¢, @ g 37 &1 s B



1
(5*4)

3. (0,0)

4 (3.2)

Correct Answer :-

. (_411}

49) If the supplement of an angle is equal to itself, then the angle is: /
IfE T FIT FT TQRF &I F I g, al T g:-
1. Acute angle / =T 10T

2. Right angle / FHPIOT

3. Straight angle / F[epIvT
4. Obtuse angle / 31T hIoT

Correct Answer :-

« Right angle / T3pIOT

50) When learners makes their own definitions, concepts and theorems, they are making ./
e Rrameff 3t aReme, srumon 3 Rguia w@d e §ar it wwa ¥

1. precision / Uﬁ'?_@?ﬂ

2. generalisation / TTHTLTRIOT

3. accuracy / IATIAT

4. frequence / IRART

Correct Answer :-

« generalisation / HTHATEATHIOT

51) In a singing competition, the points (maximum being 60) allotted to the 15 participants are 60, 52,
42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48, and 46. What is the mode of the above data? /



TF M gfaAfar #, 15 gfasnfrat Fr Ru v 3w (rf@waw 60 8) 60, 52, 42, 40, 43, 44, 46, 46, 45,
42,41, 40, 46, 48 TT 46 §I mﬁmmwm%‘z

1. 44
2.48
3.42

4. 46

Correct Answer :-

. 46

52) Find the odd one out. /
F AvH F AT H

1. Radius / A=aT

2. Chord / Sfrar

3. Triangle / 39T

4. Point / ﬁFg

Correct Answer :-

53) A primary prerequisite for the child's ability to count is: /

god i e f aAar & AT v afAs oad &

1. None of these / E?I?}I@fa"ﬂ?a'@f

2. Fluency in place value concept / TATH AT TUROT H TdTE &l |

3. Fluency in writing numbers / T&IT @< H JdTE & |

4. Fluency with number word sequence / G&T QRW*W%W@I

Correct Answer :-

+ Fluency with number word sequence / q&an QIE"HWQFHTQIW@I



54) “Curriculum is a tool in the hands of an artist (teacher) to mould his material (the pupil) in accordance
with his ideals in his studio (the school)” was stated by: /

"SIl T FewR (RaTF) & g0 & & 3UH0r § N 39S T (Rggme) 7 39& et
¥ ITAR 3Wh FHAT (B F oot & fAw 21, wmmmww%

1. Cunningham / AP

2. H. Robert Beck / Td. IaC I

3. Derek Rowntree / S{& ﬁa'ff

4. W. Walter Cook / Seog, dlecI Peh

Correct Answer :-

e Cunningham / Fifcasd

55) Which of the following methods is not advisable for a mathematics teacher since it takes the form of a
'one man's show'?/

g & v RAae ¥ v AR § & F9-0 A 3R a8 ¢ =i g5 a@da ar &
T AT

1. Lecture method / TITEa fafdr
2. Heuristic method / 37e]&Tel fafer
3. Project method / TR fafyr

4. Laboratory method / gamTeer fafe

Correct Answer :-

« Lecture method / A& O

56) The Father of Indian statistic is ./
SR T & oad 2

1. Gauss / 3G

2. S.P. Gupta / TH.UL.I[@T

3. P.C. Mahalanobis / W8T, Fgread@

4. Fischer / e

Correct Answer :-

« P.C. Mahalanobis / UT. 9. dATaAITGH



57) How many whole number are there between 10999 and 110522 /
10999 TF 11052 & s fora-t quf T=Imd 82

1. 49

2.50

3.52

4. 53

Correct Answer :-

e 52

58) Anu wants to find the perimeter of a 5 point star shaped polygon drawn by Amal with
each side 5 cm. Help Anu by finding the perimeter of the star. /

3, A gRT IWifdbd fHd T yd® 5 JH BT YoIT 91 5 WIEe TR ATHR S dgY T IRATT 1
ST ATl 8| TR BT URATY F1d H1 § 3 Bt TeTadl B3|

1.50 cm / 50 @
2.15cm / 15 QT
3.75cm / 75 @A

4,25cm / 25 A

Correct Answer :-

e« 50cm / 50 @Y

59) Consider the following statements: /

1.Whole numbers are closed under addition and subtraction but not under

multiplication and division.

2.Integers except zero are closed under addition, subtraction, multiplication and

division.

3.Rational numbers are closed under addition, subtraction, multiplication and

division.

fFrafafed sy= ©R faar &3¢

;gﬁgam%mtgﬁ@i@ﬁaﬁﬁ%m%%@@@ﬁ%m%m
I

2. I &I BIsHR WIS, U4, TV T4 fIUTSH & d8d YUIie $I d¢ far orar g1

3. 9IS, T4, U U4 fAUTe & ded uRAg S@nssit &t d¢ fear siar g1

1. Only statements 1 & 2 are right. / &adl T 1 Td 2 T o



2. Only statements 2 & 3 are right. / &del HYA 2 TT 3 T ol
3. All the three statements are right. / T il HIT T &l

4, All three statements are wrong. / T8 AT FUST AT &l

Correct Answer :-

o All three statements are wrong. / I dldl HYUF 3T &l

60) For what value of 'k’ do the equations 4x — 2y = 3 and kx + y =5 represents two lines
intersecting at a unique point? /

%TlﬂWUT4x—2y= 3Td kx + y =5 & T faxiv fig W qf ufa=ddl Yamsii &1 a=ii= & fg 'k’ &1 w1 famn
?

k=3
1.

k#2
2.

k#3
3.

k-2
4,

Correct Answer :-

ket 2



